is/,ezamva

¥ B i TR R

20154 35 No.475

JAPAN AUTOMOTIVE
PPRODUCTS ASSOCIATION
RECOMM S

2015 4F 21 47

5—825%& = L NSV i | 5—825 | =7k
HB h K e WO s | Ak | Br
H & | - 7E—p - 7$ﬁ+3 =N S
Na—F [ 4957273405703
o ||II|||I|I|I|I|I|I|||||II|I||I|||IIII|||||I|I||II|I|I|||||II||II|II|||||II|
HN-1305 TV NN = (=) 1 | 11,000 | 1
48306-E0121 7°8747 FQIA 14.04-5147
- FQIE 14.04-Bl4T
FSIA 10.09-B14T
FSIE 10.05-F4T
80X145X41
(M12X65) @ (k) 7u—RU—712i%, 3 K020 E9,
H & | - 7E—p - 7$ﬁ+3 =N S
Na—} [ 4957273405710
. . ||II|||I|I|I|I|I|I|||||II|I||I|||IIII|||||I|I||II|I|I|||||III|||I||II|||II|
HN-1306 A7V NN —()¥—) 20ord | 11,000 | 1
48306-E0131 7°874T7 FQIA-FQIE-FSIA 14.04-BIfT
< FRIA-FRIE 10.07-B14T
FSIE 10.07-5A4T
PR1A 10.09-B14T
80X145X41
(M12X82) @ (BF) 7u—RU—712i%, 3H X0 M0 ET,
H % | e 7$ﬁ+a MOoa=RFY ]
Na—F [ 4957273405727
. ||II|||I|I|I|I|I|I|||||II|I||I|||IIII|||||I|I||II|I|I|||||II|I||I|||II||II|
HN-1307 A7V NN — ()F—) 1~3] 11,000 | 1
48306-E0141 7°874T7 FQIA 14.04-34T
~ FQIE 14.04-B14T
FSIA 10.09-Bi4T
FSIA 10.07-Bi4T
80X145X41
(M12X90) @ () 7 o—RU—712i3, 3H S L0 ET,
EE5; | e 7$ﬁ+a I LA
Na—F [ 4957273406137
o ||II|||I|I|I|I|I|I|||||II|I||I|||IIII|||||I|I||II||II||I|||III||||||II||II|
HN-1308 ATV NN = (F—) 2 | 11,000 | 1
48306-E0111 7°u747 FQIA 14.04-547
FQIE 14.04-Bi4T
FSIA 10.09-B14T
—4—
80X145X41 201544 H F1E)3 58
(M12X48) ® (1) 7 m—FU—i%. 4F 5 RORBIC A0 £,
*EHRLOBLEIV(ESER—E)




ATV NN — BIRERP ERER —ER NO.1
HN-1308 | HN-1305 | HN-1306 HN-1307
. . . [H % l;',ju% 48306-1890 48306-1880 48306-1870 48306-1860
@ﬂ% IJEE ﬁth [ E‘,ju%m S4830-61890 | S4830-61880 S4830-61870 S4830-61860
Iﬁ?flﬁqﬁ 48306-E0111 | 48306-E0121 48306-E0131 48306-E0141

K.FR1AK 0705-1008 4 2 2

K.FR1AN 0705-1008 4 2 2

K.FR1APXA 0705-1008 4 2 2

K.FR1APYA 0705-1008 4 2 2

K.FR1APYF 0705-1008 4 2 2

K.FR1AS 0705-1008 4 2 2

K.FR1AW 0705-1008 4 2 2

K.FR1IAXYA-AL 0705-1008 4 4

K.FR1EP 0705-1008 4 2 2

K.FR1ES 0705-1008 4 2 2

K.FR1EU 0705-1008 4 2 2

K.FR1EV 0705-1008 4 2 2

K.FR1EW 0705-1008 4 2 2
K.FR1IEXYA-EAF 0705-1008 4 4

K.FS1EKXD 0705-1008 4 1 2 1
K.FS1EKXM 0705-1008 4 1 3
K.FS1EM 0705-1008 4 1 2 1
K.FS1EPYD 0705-1008 4 1 2 1
K.FS1EPYM 0705-1008 4 1 3
K.FS1ER 0705-1008 4 1 2 1
K.FS1ET 0705-1008 4 1 2 1
K.FS1EU 0705-1008 4 1 2 1
K.FSIEWYA 0705-1008 4 1 2 1
K.FS1EZYA 0705-1008 4 1 2 1
K.PRIAPYF-AA 0705-1008 4 2 2

S.FR1AK 1009—- 4 2 2

S.FR1AN 1009—- 4 2 2

S.FR1APAA 1009-1405 4 2 2

S.FR1APBA 1009-1405 4 2 2

S.FR1APBF 1009-1405 4 2 2

S.FR1APDA 1404— 4 2 2

S.FR1APEA 1404— 4 2 2

S.FR1APEF 1404- 4 2 2

S.FR1AS 1009—- 4 2 2

S.FR1AU 1009—- 4 2 2

S.FR1AV 1009—- 4 2 2

S.FR1AW 1009—- 4 2 2

S.FR1AXBA-VL 1009-1111 4 4
S.FR1AXBA-VLF 1110-1405 4 4

S.FR1IAXWA-VL 1404~ 4 4

S.FR1EP# 1005—- 4 2 2

S.FR1EU# 1005— 4 2 2

S.FR1EXBA# 1005-1405 4 4
S.FR1EXBA—-(EA,ER) 1007-1103 4 4

S.FR1IEXBA-SA 1007-1405 4 4

S.FR1EXEA 1404~ 4 4

S.FR1EXEA-SA 1404~ 4 4

S.FS1AKAA 1009-1111 4 2 2
S.FS1AKAA 1110-1405 4 1 2 1
S.FS1AKAD 1009-1111 4 2 2
S.FS1AKAD 1110-1405 4 1 2 1
S.FS1AKAM 1009-1405 4 1 3
S.FS1AKDA 1404— 4 1 2 1
S.FS1AKDD 1404- 4 1 2 1
S.FS1AKDM 1404— 4 1 3

¥ RAR—IBTBLIZINV(EHAR—F)




ATV NN = BIR BRG] FERER —ER NO.2
HN-1308 | HN-1305 HN-1306 HN-1307
N . . BT 48306—-1890 48306-1880 48306-1870 48306-1860
ﬁﬁﬁ }FUK EK H%? ﬁiﬂ;é S4830-61890 | S4830-61880 S4830-61870 S4830-61860
?"ﬁﬁ,%‘é 48306-E0111 | 48306-E0121 48306-E0131 48306-E0141
S.FSIAKXD-BA 0910-1008 4 1 2 1
S.FSIAKXM-BM 0910-1008 4 1 3
S.FS1IAM 1009-1111 4 2 2
S.FS1IAM 1110- 4 1 2 1
S.FS1AP 1009-1405 4 1 3
S.FS1APED 1404- 4 1 2 1
S.FSIAPEM 1404- 4 1 3
S.FS1AR 1009-1111 4 2 2
S.FS1AR 1110-1405 4 1 2 1
S.FS1AR 1404- 4 1 2 1
S.FSIAT 1009-1111 4 2 2
S.FSIAT 1110-1405 4 1 2 1
S.FSIAT 1404- 4 1 2 1
S.FS1AU 1009-1111 4 2 2
S.FS1AU 1110- 4 1 2 1
S.FSIAWEA-LA 1404- 4 1 2 1
S.FS1EK 1005-1103 4 2 2
S.FS1EK 1102-1405 4 1 2 1
S.FS1EP 1005-1103 4 2 2
S.FS1EP 1102-1405 4 1 2 1
S.FS1ER 1005-1008 4 2 2
S.FS1IERBA-(KA,KF,QF) [1007-1103 4 2 2
S.FSIERBA-(KA,KF,QF)  [1102-1405 4 1 2 1
S.FSIERBA-RH 1007-1301 4 2 2
S.FSIERBA-RHF 1204-1405 4 1 2 1
S.FS1EU 1005-1103 4 2 2
S.FS1EU 1102-1405 4 1 2 1
S.FSIEWBA 1005-1008 4 2 2
S.FS1IEWBA-
(CA,CC,EA,EB,EF,SA,SB, [1007-1405 4 2 2
SC,SD,SF)
S.FS1IEWBA-
(KA,KB,KC,KF,MA,MC,Q |1007-1103 4 2 2
A,QB,QF)
S.FS1IEWBA-
(KA,KB,KC,KF,MA,MC,Q |1102-1405 4 1 2 1
A,QB,QF)
S.FSIEWBA-RF 1007-1301 4 2 2
S.FSIEWBA-RFF 1204-1405 4 1 2 1
S.FSIEWEA 1404- 4 1 2 1
S.FS1EZBA 1005-1008 4 2 2
S.FS1EZBA-
(CA,EA,EB,SA,SB) 10071405 4 2 2
S.FS1EZBA-
(KA,KB,MA,QA,QB) 10071103 4 2 2
S.FS1EZBA-
(KA.KB.MA.QA.QB) 1102-1405 4 1 2 1
S.FS1EZEA 1404- 4 1 2 1
S.PRIAPBF-AA 1009-1111 2 2
S.PRIAPBF-AAF 1110-1312 2 2
S.PRIAPEF-AA 1404- 2 2




